
 

 

       

  QUESTION BANK                                                        Month-December 

 Class: 5           Subject:  MATHS                                      

    Ch-  -7-AREA ,PERIMETER &MEASUREMENT  

1) If a rectangle has a length of 8m and width 3m, then its perimeter is   

 a) 11m                              b)  22  m                     c)40 m              d)50 m 

2) 3.5 kg   =……………g 

  a)  35                              b)  350                         c)  3500             d)  3.05  

3) The perimeter of a square whose each side is  20 cm is ……………cm 

     a) 400                           b)  200                       c)100                 d) 80  

4)If Edwin buys   150 g of mustard ,how many milligrams it is? 

          a) 1500                       b)  15,000                 c)1,50,000         d)0.0015 

5) calculate the area of the following irregular shape by counting squares. 

  

6) Find the i) area        and ii) perimeter    of the following shapes the length of the side of each small 

square is 1 cm. 

     a)                                      b)     



 

 

 7)Convert the units of measurement of length: 

    a) 8m to cm           b) 28m  7 cm to cm                        c)  34 km  40m to  m. 

8) Convert the units of measurement of weight/mass . 

    a) 9kg  to g           b) 64 kg  15 g  to g                        c)  34 kg  340g  to g. 

9) Convert the units of measurement of volume. 

    a) 18 l   7 ml   to ml            b) 28 l   67  ml   to ml                         c)  34 l   40m to  ml. 

10)The following diagram shows the distance covered by  Ben  when he starts from his home-O to visit 

various places B,C,D,E,F and back to home. What is the total distance he travelled (in km and m),when 

he is back to his home. 

    

11) What  is the formula to find the area of a rectangle whose length is “l  and breadth “b” ? 

12) Fill in the blanks: 

 a) 3l  =……………..ml  

 b) 53km  45 m =………………..m 

 c ) 
 

 
  l = …………………ml 

d)5km  600m + 2km 700 m = ……………km……….m 

e) 2.5 hr = …………..minutes 

f) 3l 400ml × 5 = ……………….. 

13)Pinky has a piece of ribbon measuring 60 cm. If she cuts it into 5  equal pieces  ,what is the length of 

each piece? Give your answer in  mm. 

14) Calculate the following. 

  a) 4h   30 min + 6 hrs   45 min.             b) 10hr  50 min -   4 hr  25 min . 


